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3.12 +x=eastward, +y=northward

T =250 m+ (125 m)cos30.0° = 358 m
Ty =75.0 m+(125 m)sin30.0°-150 m=-12.5m

d=q(22)* +(2y)’ = /(368 m)* +(-12.5 m)’ =358 m

g =tan™ (%] m*@%}:—&ﬁﬂ" d=358 mat2.00°Sof E

is 123 km at 60.0° N of W from the

. o at 41.0 km/h, the hurricane ts of these two

315 After300hm 37.5 km due north. The componen

island. In the next 1.50 h, it travels
displacements are:

x-compd
-61.5 kan ‘Iﬂ_

0 l 144 km
‘ H15km

Dis ) la.ceme!\t

37.5 km
Resultant

Therefore, the eye of the hurricane is noOwW

oS e e [ fom e

318 (a) E=120N E,=600N E,=104N
F,=80.0N E,=-207N  E,=773N
R=,’ =F,)* +(zE,) =393 N)* +(181 N)* =185 N
and &= tan“( 181 N) =tan™(4.61)=77.8°
393N

The resultant is R =[ 185 N at 77.8° from the x-axis |.

(b) To have zero net force on the mule, the resultant above must be cancelled by a force
equal in magnitude and oppositely directed. Thus, the required force is
{185 N at 258° from the x-axis I.

3.23 The constant horizontal speed of the falcon is

The time required to travel 100 m horizontally is t=£= 100 m

=112s. ertical
v, 89.4 my/s 5. Thew

displacement during this time is
Ay =ft>’;!,f+%ayt2 =0+%[-9.80 m/s’)(l.12 s)’=-6.13m,

or the falcon has a vertical fall of



maximum height Ty, = 0, and the time to reach this height is found from

=

s, 8 8
t}mth.asoccurredduﬁngﬂﬁsﬁnteis

3.25 Atthe

vy=viy+ayt as t=

The vertical displacement
(AY), . =0t = ( H’ﬂ (_-—*L)(v“’\' -2‘1.

Thus, if (AY),.. =12 ﬁ(ﬁ?&—) =3.7 m , then

= [28(2Y) e = J2(o.80 m/s?)(3.7 m) =85 m/s.

and if the angle of projection is g=45°, the launch speed is
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